DIvVISION AND MULTIPLYING BY 10s (H - SET 5)
DIVISION BY 1000

Name:

Time:

Score:

w0 263000 == 1000 =

42588000 + 1000 =

15548000 + 1000 =

w0 36000 = 1000 =

w5 260000 == 1000 =

1692000 = 1000 =

un- 952000 == 1000 =

45169000 <+ 1000 =

162000 = 1000 =

50384000 <+ 1000 =

Mathematics: Division - Level 2 - Horizontal - Set 5

24
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452)
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460)

950000 = 1000 =

690000 - 1000 =

305000 = 1000 =

667000 <+ 1000 =

» 672000 + 1000 =

971000 <+ 1000 =

924000 + 1000 =

755000 =+ 1000 =

446000 + 1000 =

24000 + 1000 =
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